

2016 Novelties, Plush, Spo	orts & Supp	lies "IN STOCK'	' List
Item Name / Description			
Novelties	Gross/	Sale	Quantity
Consolation Prizes Sold Per Gross(144 p/bag)	Each	Price	Ordered
JUMPING FROGS	Gross	\$5.00	
ARMY MEN	Gross	\$5.00	
NEON BRACELET	Gross	\$5.00	
GLITTER RING	Gross	\$5.00	
GOLD COIN	Gross	\$5.00	
RED LIPS	Gross	\$5.00	
GLOW IN THE DARK BUGS	Gross	\$5.00	
SPIN TOPS	Gross	\$5.00	
ASST CONSOLATIONS	Gross	\$5.00	
*RACE CAR PENCIL SET	Each	\$0.10	
*FRUIT ERASERS	Each	\$0.10	
*GAME BOOKS	Each	\$0.10	
CAR NOTE PADS	Each	\$0.20	
SMART PHONE ERASER	Each	\$0.25	
CLASSIC SPORT STICKER	Each	\$0.25	
8" GLIDERS	Each	\$0.25	
RACE CAR STICKER SET	Each	\$0.25	
*FLOWER/STAR NAIL FILES	Each	\$0.25	
CRAYONS-CARS/SPIDERMAN	Each	\$0.25	
CRAYONS-PRINCESS-MINI MOUSE	Each	\$0.25	
MONKEY PARACHUTIST	Each	\$0.35	
BUBBLES	Each	\$0.35	
SPRING COIL	Each	\$0.35	
*COOKIE FLASHLIGHT KEYCHAIN	Each	\$0.50	
THUMBS UP ERASER	Each	\$0.50	
*NOISE PUTTY	Each	\$0.50	
SMILE TIMER	Each	\$0.50	
LIGHT UP FLYING UMBRELLA	Each	\$0.75	
DOG PADDLE BALL	Each	\$0.75	
*HOCKEY PENCILS	Each	\$0.75	
PULL BACK PICK UP TRUCKS	Each	\$0.75	
*GIRLS RULE CHANGE PURSE	Each	\$0.75	
*KNOBBY FOOTBALL	Each	\$0.75	
*SPIDERMAN STICKER SET	Each	\$0.75	
*SCOOBY DOO STICKER SET	Each	\$0.75	
STONE STRETCH BRACELET	Each	\$0.75	
*TEACHER APPLE STICKERS	Each	\$0.75	
GUITAR WATER GAME	Each	\$0.75	
DESIGNER RINGS	Each	\$1.00	
*LIGHT UP KEYCHAIN	Each	\$1.00	
*DOLPHIN PUTTY WITH ERASER	Each	\$1.00	
6PC STATIONARY SET	Each	\$1.00	
LIPSTICK PENCIL SHARPENER/ERASER	Each	\$1.00	
*ZIPPER BRACELET	Each	\$1.00	
*DOG PHOTO FRAME-ASST	Each	\$1.00	
IRON MAN NOTEPADS	Each	\$1.00	
EAR BUDS	Each	\$1.50	

GROWING PENGUIN EGG	Each	\$1.50	
42" BASEBALL BAT	Each	\$1.50	
ALIEN PUTTY	Each	\$1.50	
WHIRLEY PEN		\$1.50	
CUPCAKE NECKLACE	Each	\$1.50	
	Each	·	
*2 IN 1 FLASHLIGHT	Each	\$1.50	
*DORA THE EXPLORER NIGHTLIGHT	Each	\$1.50	
QUAD MOTORCYCLE	Each	\$1.50	
\$100 BILL WALLET	Each	\$1.50	
CUPCAKE NOTE PAD	Each	\$1.50	
SOCK PURSE	Each	\$1.50	
KNOBBY FOOTBALL-LG	Each	\$1.50	
PRINCESS/TINK SCHOOL KIT	Each	\$1.50	
FOAM SLING SHOT	Each	\$2.00	
8" SMILE MALLET	Each	\$2.00	
PENCIL SETS WITH SHARPENER-ASST	Each	\$2.00	
OWL ORNAMENTS	Each	\$2.00	
LOLLIPOP HAIR BANDS	Each	\$2.00	
FROZEN STICKER EARRINGS	Each	\$2.00	
BLING BOXES	Each	\$2.00	
WIZARD BREW	Each	\$2.00	
BANGLE BRACELET	Each	\$2.00	
SILLY FACE NOISE PUTTY	Each	\$2.50	
LOVE BRACELET/CARD	Each	\$2.50	
DOG COLLAR/BANDANA	Each	\$2.50	
SEQUIN HAND BAG	Each	\$2.50	
FROZEN COMB/MIRROR SET		\$2.50	
	Each	·	
NEON SQUISH BALL	Each	\$2.50	
DOG BANK	Each	\$2.50	
PEACE PUFFER BALL	Each	\$3.00	
BASKETBALL GAME W/SOUND	Each	\$3.00	
TURTLE SAND ANIMAL	Each	\$3.00	
ANIMAL LIPGLOSS	Each	\$3.00	
FLASHING BUTTERFLY BRACELET	Each	\$3.00	
LIGHT UP PUFFER DOG	Each	\$3.00	
*CRYSTAL DOG	Each	\$3.00	
*COOKING PANS	Each	\$3.50	
*PRINCESS DOOR HANGER	Each	\$3.50	
MANICURE SETS	Each	\$3.50	
SAND LANDSCAPE PLAQUE	Each	\$4.00	
*SPORT FRAMES	Each	\$4.00	
LIQUID TIMERS	Each	\$4.00	
*POLKA DOT GLASSES	Each	\$4.00	
*PLUSH CANDY	Each	\$4.00	
SANDY DOLPHIN FIGURINE	Each	\$4.50	
MONSTER TRUCK	Each	\$5.00	
CERAMIC TEA SET	Each	\$5.00	
FLOWER NECKLACES	Each	\$5.00	
LITE UP FRISBEE	Each	\$5.00	
*GONE FISHING PLAQUE	Each	\$5.00	
*DOLPHIN HOOP NECKLACE			
	Each	\$5.00 \$5.50	
*SOCCER BALL NECKLACE/SOCCER BALL	Each	\$5.50	
*FASHION SHOE MEMO HOLDER	Each	\$5.50	
*BEAR NECKLACE IN BEAR BOX	Each	\$5.50	
*CRYSTAL FLOWER	Each	\$5.50	
GUITAR NECKLACE IN GREY BOX	Each	\$5.50	
SANDAL NECKLACE/SANDAL BOX	Each	\$6.50	
*DOLPHIN NECKLACE/DOLPHIN BOX			
PACHINCO LIQUID TIMERS	Each Each	\$6.00 \$6.00	

*DUTTEDELY NEOKLAGE IN DUTTEDELY DOY		<u> </u>	
*BUTTERFLY NECKLACE IN BUTTERFLY BOX	Each	\$6.00	
*PAINT BUCKET DESK CADDY	Each	\$6.00	
*POTTED FLOWER	Each	\$6.00	
*FROZEN LUNCH COOLER BAG	Each	\$7.50	
*STARFISH NECKLACE/SHELL BOX	Each	\$7.50	
*DOLPHIN RHINESTONE NECKLACE	Each	\$8.50	
*LOOM BAND KIT	Each	\$9.50	
*PUPPY TAPE DISPENSER	Each	\$9.50	
*PEARL OYSTER NECKLACE	Each	\$9.50	
*RHINESTONE NECKLACE COWBOY HAT	Each	\$9.50	
SAFE WITH COMBO LOCK	Each	\$10.00	
*WOODEN BASEBALL GAME	Each	\$15.00	
*BLUE TOOTH SPEAKER	Each	\$15.00	
*REMOTE CONTROL HELICOPTER	Each	\$15.00	
*PING PONG GAME	Each	\$15.00	
		·	Novelties Total
			Novelties Total
Plush			
PINGUINS/STARS PLUSH	Each	\$1.00	
BAZOOKA PEN BAG PLUSH	Each	\$1.50	
LAY DOWN FROGS	Each	\$1.25	
VALENTINE HEARTS / PLAIN HEARTS	Each	\$1.50	
SWORDS	Each	\$1.50	
SMILE FLOWERS	Each	\$1.50	
ROSE	Each	\$1.50	
STARS	Each	\$1.50	
MINI TURTLES	Each	\$1.50	
LOLLIPOPS	Each	\$1.50	
DORA PLUSH PURSE	Each	\$1.50	
SM SNAKE PLUSH	Each	\$1.50	
PLUSH PURSE	Each	\$1.50	
ASST BANANA	Each	\$1.50	
SM FISH	Each	\$1.50	
RAINBOW WORM		\$1.50	
	Each		
GORILLA	Each	\$2.00	
SM GECKOS	Each	\$2.00	
ELEPHANTS	Each	\$2.00	
LAYDOWN TURTLES	Each	\$2.00	
LG SNAKE	Each	\$2.00	
SPINEY FISH PLUSH	Each	\$2.00	
PADRES BEAR	Each	\$2.00	
CLOWN FISH	Each	\$2.00	
GRADUATION BEAR	Each	\$2.50	
DOLPHIN PLUSH	Each	\$2.50	
GECKO PLUSH	Each	\$3.00	
ALLIGATOR	Each	\$3.00	
GORILLA WITH GLASSES	Each	\$3.50	
GUITARS	Each	\$3.50	
PINK BREAST CANCER BEAR	Each	\$3.50	
TAZ WITH HEADBAND	Each	\$4.50	
SHAGGY FROG OR DOG	Each	\$5.00	
CAMO DUCKS W/BEARDS	Each	\$5.00	
TWEETY BIRD	Each	\$5.00	
BUGS BUNNY	Each	\$5.00	
SYLVESTER	Each	\$5.00	
TAZ	Each	\$5.00	
SHREK	Each	\$5.00	
DAFFY DUCK-MARINE	Each	\$5.00	
MONEY GUITARS	Each	\$5.50	
11101121 3011/110	Laon	ψο.σο	

TIGER / LEOPARDS	Each	\$5.50	
ALLIGATOR PLUSH HAT	Each	\$5.50	
TAZ LAKER	Each	\$6.00	
BUGS BUNNY-LG.	Each	\$6.00	
CLOWN FACE PLUSH	Each	\$6.50	
PLUSH BEAR OR DOG	Each	\$7.00	
FIONA	Each	\$7.50	
ANIMAL PRINT PILLOWS	Each	\$8.00	
RUGBY BEAR/WITH SHIRT	Each	\$8.50	
ANIMAL HAT W/FUR BALLS ANIMAL HATS WITH PAWS	Each Each	\$10.00 \$12.00	
ANIMALTIATS WITH FAWS	Lacii	φ12.00	Plush Total
Cucuto			Flusii Totai
Sports	F I-	#20 00	
USC XXL Jumbo Bear	Each	\$20.00	
Kobe Signature Bear	Each	\$15.50	
USC Jumbo Bear	Each	\$15.50	
LA Dodger Hats	Each	\$9.85	
San Diego State Hats	Each	\$9.85	
Laker Bear with Jersey	Each	\$9.85	
Angel/Dodger #1 Fan Bear	Each	\$9.85	
Angel/Dodger Backpacks	Each	\$9.85	
Titanium Necklaces SoCal Teams	Each	\$8.85	
Titanium Necklaces NorCal Teams		· · · · · · · · · · · · · · · · · · ·	
	Each	\$8.85	
Insulated Lunch Bags-SoCal Teams	Each	\$7.85	
Insulated Lunch Bags-NorCal Teams	Each	\$7.85	
Hoodie Dogs-SoCal Teams	Each	\$6.85	
Hoodie Dogs-NorCal Teams	Each	\$6.85	
Fleece Blankets-SoCal	Each	\$5.85	
Sport Bears-SoCal Teams	Each	\$5.25	
Sport Bears-NorCal Teams	Each	\$5.25	
Kings/Ducks Magnets	Each	\$4.75	
Soft Balls-SoCal Teams	Each	\$4.25	
Soft Balls-NorCal Teams	Each	\$4.25	
Sportball Ornaments-SoCal Teams	Each	\$3.75	
Sportball Ornaments-NorCal Teams	Each	\$3.75	
3D Magnets-SoCal Teams	Each	\$3.75	
3D Magnets-NorCal Team	Each	\$3.75	
Lanyards-Chargers	Each	\$3.75	
Lanyards-Giants	Each	\$3.75	
Lanyards-Sharks	Each	\$3.75	
Charger Antenna Flags	Each	\$3.25	
Flags on a Stick-SoCal Teams	Each	\$3.25	
,		\$3.25	
Flags on a Stick-NorCal Teams	Each	<u> </u>	
Wood Sport Plaques-ass't	Each	\$3.25	
Charger Salt/Pepper Shakers	Each	\$2.75	
Eye Black-SoCal Teams	Each	\$2.75	
Eye Black-NorCal Teams	Each	\$2.75	
Sport Pens-SoCal Teams	Each	\$2.75	
Metallic Cups-Angels/Dodgers	Each	\$2.75	
Metallic Cups-Angels/Dodgers	Each	\$2.75	

Metallic Cups-A's Each \$2.75 Plush Balls Basketballs Each \$2.75 Plush Footballs Each \$2.75 Angels/Dodgers/Chargers/Padres Keychains Each \$2.25 Kings/Ducks Keychains Each \$2.25 Metallic Cups-Chargers/Raiders Each \$2.25 USC/UCLA Stickers Each \$1.75 Charger Stickers Each \$1.75 Laker Pennants Each \$1.15 Sport Card Packs Each \$0.85 MLB Helmuts-California Teams Each \$0.85 SPIN ART CARDS Each \$0.30 REDEMPTION PADS Pad \$0.85 POSTERS Each \$0.85 SAND ART BOTTLES Each \$1.00 PLAY TICKETS ROLL \$2.50 WIN TICKETS ROLL \$2.50	Total
Plush Footballs Each \$2.75 Angels/Dodgers/Chargers/Padres Keychains Each \$2.25 Kings/Ducks Keychains Each \$2.25 Metallic Cups-Chargers/Raiders Each \$2.25 USC/UCLA Stickers Each \$1.75 Charger Stickers Each \$1.75 Laker Pennants Each \$1.15 Sport Card Packs Each \$0.85 MLB Helmuts-California Teams Each \$0.85 Sports Game / Party Supplies SPIN ART CARDS Each \$0.30 REDEMPTION PADS Pad \$0.85 POSTERS Each \$0.85 SAND ART BOTTLES Each \$1.00 PLAY TICKETS ROLL \$2.50	Total
Angels/Dodgers/Chargers/Padres Keychains Each \$2.25 Kings/Ducks Keychains Each \$2.25 Metallic Cups-Chargers/Raiders Each \$2.25 USC/UCLA Stickers Each \$1.75 Charger Stickers Each \$1.75 Laker Pennants Each \$1.15 Sport Card Packs Each \$0.85 MLB Helmuts-California Teams Each \$0.85 Sports Game / Party Supplies SPIN ART CARDS Each \$0.30 REDEMPTION PADS Pad \$0.85 POSTERS Each \$0.85 SAND ART BOTTLES Each \$1.00 PLAY TICKETS ROLL \$2.50	Total
Angels/Dodgers/Chargers/Padres Keychains Each \$2.25 Kings/Ducks Keychains Each \$2.25 Metallic Cups-Chargers/Raiders Each \$2.25 USC/UCLA Stickers Each \$1.75 Charger Stickers Each \$1.75 Laker Pennants Each \$1.15 Sport Card Packs Each \$0.85 MLB Helmuts-California Teams Each \$0.85 Sports Game / Party Supplies SPIN ART CARDS Each \$0.30 REDEMPTION PADS Pad \$0.85 POSTERS Each \$0.85 SAND ART BOTTLES Each \$1.00 PLAY TICKETS ROLL \$2.50	Total
Kings/Ducks Keychains Each \$2.25 Metallic Cups-Chargers/Raiders Each \$2.25 USC/UCLA Stickers Each \$1.75 Charger Stickers Each \$1.75 Laker Pennants Each \$1.15 Sport Card Packs Each \$0.85 MLB Helmuts-California Teams Each \$0.85 Sports Game / Party Supplies SPIN ART CARDS Each \$0.30 REDEMPTION PADS Pad \$0.85 POSTERS Each \$0.85 SAND ART BOTTLES Each \$1.00 PLAY TICKETS ROLL \$2.50	Total
Metallic Cups-Chargers/Raiders Each \$2.25 USC/UCLA Stickers Each \$1.75 Charger Stickers Each \$1.75 Laker Pennants Each \$1.15 Sport Card Packs Each \$0.85 MLB Helmuts-California Teams Each \$0.85 Sports Game / Party Supplies SPIN ART CARDS Each \$0.30 REDEMPTION PADS Pad \$0.85 POSTERS Each \$0.85 SAND ART BOTTLES Each \$1.00 PLAY TICKETS ROLL \$2.50	Total
USC/UCLA Stickers Each \$1.75 Charger Stickers Each \$1.75 Laker Pennants Each \$1.15 Sport Card Packs Each \$0.85 MLB Helmuts-California Teams Each \$0.85 Sports Game / Party Supplies Each \$0.30 SPIN ART CARDS Each \$0.85 POSTERS Each \$0.85 SAND ART BOTTLES Each \$1.00 PLAY TICKETS ROLL \$2.50	Total
Charger Stickers Each \$1.75 Laker Pennants Each \$1.15 Sport Card Packs Each \$0.85 MLB Helmuts-California Teams Each \$0.85 Sports Game / Party Supplies Each \$0.30 SPIN ART CARDS Each \$0.85 REDEMPTION PADS Pad \$0.85 POSTERS Each \$0.85 SAND ART BOTTLES Each \$1.00 PLAY TICKETS ROLL \$2.50	Total
Laker Pennants Each \$1.15 Sport Card Packs Each \$0.85 MLB Helmuts-California Teams Each \$0.85 Sports Spin ART CARDS Each \$0.30 REDEMPTION PADS Pad \$0.85 POSTERS Each \$0.85 SAND ART BOTTLES Each \$1.00 PLAY TICKETS ROLL \$2.50	Total
Sport Card Packs Each \$0.85 MLB Helmuts-California Teams Each \$0.85 Sports Sports SPIN ART CARDS Each \$0.30 REDEMPTION PADS Pad \$0.85 POSTERS Each \$0.85 SAND ART BOTTLES Each \$1.00 PLAY TICKETS ROLL \$2.50	Total
MLB Helmuts-California Teams Each \$0.85 Sports Game / Party Supplies Each \$0.30 SPIN ART CARDS Each \$0.30 REDEMPTION PADS Pad \$0.85 POSTERS Each \$0.85 SAND ART BOTTLES Each \$1.00 PLAY TICKETS ROLL \$2.50	Total
MLB Helmuts-California Teams Each \$0.85 Sports Game / Party Supplies Each \$0.30 SPIN ART CARDS Each \$0.30 REDEMPTION PADS Pad \$0.85 POSTERS Each \$0.85 SAND ART BOTTLES Each \$1.00 PLAY TICKETS ROLL \$2.50	Total
Sports Game / Party Supplies SPIN ART CARDS Each \$0.30 REDEMPTION PADS Pad \$0.85 POSTERS Each \$0.85 SAND ART BOTTLES Each \$1.00 PLAY TICKETS ROLL \$2.50	Total
Game / Party Supplies SPIN ART CARDS Each \$0.30 REDEMPTION PADS Pad \$0.85 POSTERS Each \$0.85 SAND ART BOTTLES Each \$1.00 PLAY TICKETS ROLL \$2.50	Total
SPIN ART CARDS Each \$0.30 REDEMPTION PADS Pad \$0.85 POSTERS Each \$0.85 SAND ART BOTTLES Each \$1.00 PLAY TICKETS ROLL \$2.50	
REDEMPTION PADS Pad \$0.85 POSTERS Each \$0.85 SAND ART BOTTLES Each \$1.00 PLAY TICKETS ROLL \$2.50	
POSTERS Each \$0.85 SAND ART BOTTLES Each \$1.00 PLAY TICKETS ROLL \$2.50	
SAND ART BOTTLES Each \$1.00 PLAY TICKETS ROLL \$2.50	
PLAY TICKETS ROLL \$2.50	
WINTICKETS ROLL \$2.50	
4" BALLOONS Gross \$3.00	
REDEMPTION CARDS P/200 \$4.00	
RAFFLE TICKETS ROLL \$5.00	
LOLLIPOPS p/100 \$6.00	
9" BALLOONS Gross \$8.50	
WRISTBANDS P/100 \$9.00	
BINGO CARDS p/500 \$15.00	
FIESTA PENNANTS Each \$15.00	
BDAY ROUND PLATES-9" Each \$1.95	
BDAY ROUND PLATES-7" Each \$1.75	
BDAY ROUND NAPKIN-LG. Each \$1.75	
BDAY ROUND NAPKIN-SM. Each \$1.25	
BDAY ROUND CUP Each \$1.75	
CUPCAKE PLATES-9" Each \$1.95	
CUPCAKE PLATES-7" Each \$1.75	
CUPCAKE NAPKIN-LG. Each \$1.75	
CUPCAKE NAPKIN-SM. Each \$1.25	
CUPCAKE CUP Each \$1.75	
PRINCESS PLATES-9" Each \$1.95	
PRINCESS PLATES-7" Each \$1.75	
PRINCESS NAPKIN-LG. Each \$1.75	
PRINCESS NAPKIN-SM. Each \$1.25	
PRINCESS CUP Each \$1.75	
DDAY COULA DE DI ATEC CII	
BDAY SQUARE PLATES-9" Each \$1.95	
BDAY SQUARE PLATES-7" Each \$1.75 BDAY SQUARE NAPKIN-LG. Each \$1.75	
BDAY SQUARE NAPKIN-LG. Each \$1.75 BDAY SQUARE NAPKIN-SM. Each \$1.25	
BDAY SQUARE NAFKIN-SW. Each \$1.25 BDAY SQUARE CUP Each \$1.75	
25/11 000/11/2 001	
SOLID PLATES-9" Each \$1.95	
SOLID PLATES-7" Each \$2.95	
SOLID CUPS Each \$1.25	
SOLID NAPKIN-LG. Each \$2.95	

SOLID NAPKIN-SM.	Each	\$2.45	
			Supplies Total
			Grand Total



Total
Amount

]	
1	
-	
1	
-	
]	
1	
-	
1	
1	
1	
1	
1	
1	
1	
1	
1	
-	
4	
4	
_	
1	
1	
1	
1	
1	
1	
1	
1	
1	
4	
4	
4	
-	
_	
1	
1	
1	
1	
_	